80'-0" *1{2" Overall
27'-6" x1/8” 276" +1/8”
| 25'-0" £1/8" 25'-0" £1/8" 25'-0" £1/8"
. 2’—6” ’]2’_6" I 2’—6”" |
| Scale
Section #1 |¢_ Section #2 | | |
ST W I
¢ Load Cells C |
3—7 3/4" !
7-31/2" +— - - - s k- — - - ———————_——_———— - ————— —_—_————— e — e — l
11'-0" |
|
Sl e
SRR Nl
I¢ Scale
7 7 7 7 7 7
FOUNDATION REINFORCING SCHEDULE CENERAL NOTES
ASTM 615 — GRADE 60
SUGGESTED FORMING FOR DECK: 28 GA. : : :
” 1. E tion, foundation forms, rebar, and te to be furnished b tract
5/8" NUT CORRUGATED SHEET STEEL. NOT SUPPLIED | \ARK | QTY |S|ZE| LENGTH |WE|GHT (LBS) ngtogfné? oUNARTIon TormS, TEROT, And conerete fo b Turmisned by sontrastor of
EE EQSEQEEESH%%%E I;%ITQMQSPS'O_ETULD R o5 I} o 560 2. Foundation shown is designed for soils with a minimum bearing capacity of 1500 psf and
DECK SIDE CHANNEL FIELD WELD DECK CHANNEL TO PROVIDE SUPPORT FOR THE T3 < TYP - adequate drainage. if soil conditions do not meet these requirements, adjust foundation
BUTT JOINTS AS REQUIRED. TYP. EACH SIDE HR2 @ 6 1/2” 0.C DECK CHANNEL WHILE POURING 4 WHILE POURING CONCRETE. qR2 | 147 | 45 | 10 _3 . or soil as required. The design is adequate for a highway surcharge of 300psf.
HR1, SEE e THE CONCRETE, PLACE A 5/8" 3/4" 3. Work from centerlines when erecting forms and placing embedded items. Place anchor
REBAR SPLICE NOTE NUT AS SHOWN AND WELD IT TO I —_— - MAXIMUM HR3 382 #4 3 —6" 893 bolts within +1/8” of positions indicated in drawing.
3_0” THE CHANNEL AND COPING 14’.“_: e PR {".‘.-_ “'4‘:“.“<“ q‘ CORRUGATION Total Weiaht 3305 4. In areas of the country where there is severe freezing, increase the depth of the
/— HR3 @ 5” 0.C. ANGLE. NUT MUST BE REMOVED A T T e g el T T PITCH 9 foundation so that the bottom extends below the frost line, or provide a minimum of 12"
— 1’—qo” 11'=0" 120" |=—e BEFORE WEIGHING. THE NUT =/a¥aVay yav A JAVAVLVaVas 7 aVa¥; *Splice (4) HR1 to make 79°—4” in deck. free draining granular material to prevent frost heave.
. PROVIDES THE RIGHT GAP AND DECK SUPPORT SHORING TIMBER f 5. N.LS.T. H—44 requires that on the entrance and exit ends of a vehicle scale, there shall
9" le g7 HR1 © 6 AO‘C' 9" mleg” - DOES NOT INTERFERE WHEN BRACKET 2" X 67 @ 3 FT. be a straight approach that is:
— SEE REBAR — STRIKING OFF THE DECK. SPACE ON_CENTER CONCRETE SCHEDULE 5.1. At least the width of the platform.
— USE SELF-TAPPING SPLICE NOTE THE NUTS ON 5'—0" CENTERS. = / 5.2. The length of at least one—half the length of the platform but not required to be
SCREWS TO MOUNT A — | - ) Approximate 16cu. yds. 4000 psi (min) concrete more than 40ft, and
BOXES (DO NOT USE / I\ v i R — =1 required. 5.3. Any slope in the remaining portion of the approach shall ensure ease of vehicle
BOLTS). —— access, ease for testing purposes, and drainage away from the scale.
CROSS CHANNEL 1 X 3 SHORING 6. !\I.I.S.T. H—44 requirements and Iocgl weights and measures regglotions may require‘
o SUPPORT CLEARANCE (BOTT OF BEAM TO SLAB) installation parometers somewhat different than illustrated on tbls plan, particularly in
2 =5 regard to pit depth and approaches. In order to ensure compliance, consult the local
J— 20 7/8 Fairbanks service office prior to installation.
_w 7. Refer to manual for all installation and operation instructions.
\ 8. Fairbanks does not recommend using foundation or ground installed guide rails along the
NOTE: USE 1 = = i i — sides of the truck scale platform. Damage may occur to the scale if the vehicle hits the
guide rail, transferring forces to the platform an e checking system. usage o is
BOX AS ide rail, transferring f to the platf d the checki t f th
style guide rail will voi e product warranty.
TEMPLATE TO tyl id il will void th duct t
O ?ELLL (2) GROUNDING AND ELECTRICAL NOTES:
STARTER 1. Install (2) 3/4” x 8 —=0" long ground rods to project 4”. Tie ground rods to slab rebar.
HOLES |—| \_ . = Two ground rods are supplied with scale:
1.1/2" CONDUIT DECK FORMING DETAIL 1.1. One for grounding Intalogix Power Supply. Position the ground rod to match the
— chosen location for the PPS. The PPS may be located at any section.
. > 1.2. One for grounding scale weighbridge. Place within 3ft of a main beam, at any
JUNCTION BOX W\«\ convenient location. The power supply ground must be separate from weighbridge
MOUNTING DETAIL SECTION A—A ' ground, and should be at least 4’—0" from power supply ground.
- T4 Field weld end deck channel 2. Install minimum 1 1/2” conduit for cable from junction box to scalehouse. Suitable
to top of main beam. conduit for low voltage conductor shielded cable must pass through the wall at any point
Cut hole in currugated deck material for above pier tops that is convenient. Conduit to extend a minimum of 2" beyond the
. surface. Conduit is not supplied from the factory.
glngle wetl)dedthto top |Of rr_1rc||n Zearln. Top of scale 3. If alternating current (AC) is required near the scale, it shall not run closer than 36" in
ace rebar thru angle. (Typ. places) / parallel with any load cell or other signal carrying cable.
2k
////
&7 F==3
_________ T
TT I =
| i
| |
|
[l |
[l
:: _ © _
UPPER RECEIVER CUP I > < | e
= ANTI—ROTATION ] I '
€ |Section Load cell{base ‘plate DEVICE : Side check Brocket 1 n
I M ” 1 II
anchors are drill=in—place LOAD CELL BOLT W/LOCK |§| @l E| -/— 11/8" x 9” Bolt w/2 r1|1lluts I
_—4_ 5/8"_11 X 6” Wedge type LOWER RECE'VER CUP o o WASHER (= - : @ 7/8”_9 x 3 1/2” Bol Il D ~—— Il D
. anchors, supplied by W/ANTI=ROTATION PIN . " . | I
6" | ot Fairbanks. (2) ‘per celf (4) SHIM - SQUARE NUT | ﬂln = 7/8” Flatwasher | O 1
-1’—0"-—~x—-—|—-—(€-_l_—m-dl—i;l:l per section. Anchors to oo x= RE%LL PINS Bumpe”r bolt W/2 nuts - . L I —
o i oad Ce project 2 1/2”. CLAMP PLATE —\:T = 1 1/4" x 13" Full thread Ir\
, T ! ! : — &:::—::!‘:_ — H — ] 7/8"°=9 x 3 1/2” Full Thread 7/8"-9 x 3 1/2” Full Thread
- + WEDGE ANCHOR ———+ L —\ = = 7/8" Flatwasher 7/8" Flatwasher
WITH NUT AND 3/4” BASE o o 1/32" min gap | 7/8” Spring Lock Washer 7/8" Spring Lock Washer
LOCK WASHER . PLATE , , 1/8” max gap " 7/8"=9 Hex Nut 7/8"=9 Hex Nut
i o i i "I THE_INFORMATION CONTAINED |UNLESS OTHERWISE SPECIFIED, ’ ’
ANCHOR DETAIL L L L L Cast bumper block — ! CEREN A BATACCOL ol WG A 80" x 11 FAIRB
. m . It /4 5 bolt PRVLEDGED AND CONFIDENTIAL | FRACTIONS £1/8° Tundra XL Field Pour SCATES .
[ e = = :’) X ex (@] — SCALES. DO NOT USE, COPY, 3—PLACE DECIMAL +0.005 2
Z 60,000lb CLC, 100ton Capacit MERIDIAN, MS
EXPLODED VIEW ASSEMBLY VIEW w/nut ASSEMBLY DE,TAlL AS‘?EMBLY DETA”‘ REPRODUCE WITHOUT WRITTEN | hoLt DAMETERS  £1/57" pacly SCALE: NTS DRAWN:JH CHECKED:  JOM
t d t t t t PERMISSION. FAIRBANKS SCALE! ‘
at ena section at interior section ASSUMES NO RESPONSIBILTY SHEET: 1 OF 1 DATE: 2/2/16 |APPROVED:  JOH
DOCUMENT AFTER ORIGINAL —@2— — DRAWING NUMBER: REV.
TrNSSson fHRo ANGLE MODEL: _PLT—2600—060—B11—080 D—B166180—Sett —

PRINTED 03 FEBRUARY 2016 — 2:37PM BY BEN LOCKHART



